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Warmup 4/(Radius = 3, Diameter = __) 

1) Find the volume of the composite figure. 

4500 — 1500 = 3000 ft3  

REVIEW PACKETS 

 Tomorrow, you will need to turn in what you have, 

even if it’s not done 

Homework Review 

• Document Camera 

Working Backwards 

• Find the radius of the sphere. 

𝑽 = 𝟗𝟕𝟐𝝅 𝒊𝒏𝟑 

Find the volume: 

𝑽 =
𝟏

𝟐
𝝅𝒓𝟐 ∙ 𝒉  

𝑽 =
𝟏

𝟐
𝝅 ∙ 𝟏𝟐 ∙ 𝟓  

𝑽 ≈
𝟏

𝟐
𝟏𝟓. 𝟕  

𝑽 ≈ 𝟕. 𝟖𝟓 𝒎𝒎𝟑 

Top Half-Cylinder 

𝑽 =
𝟏

𝟐
𝝅𝒓𝟐 ∙ 𝒉  

𝑽 =
𝟏

𝟐
𝝅 ∙ 𝟐𝟐 ∙ 𝟓  

𝑽 ≈
𝟏

𝟐
𝟔𝟐. 𝟖  

𝑽 ≈ 𝟑𝟏. 𝟒𝟐 𝒎𝒎𝟑 

Right Half-Cylinder 

𝑽 = 𝟓 ∙ 𝟒 ∙ 𝟐 

𝑽 = 𝟒𝟎 𝒎𝒎𝟑 

Prism 

TOTAL VOLUME: 
𝑽 ≈ 𝟕𝟗. 𝟑 𝒎𝒎𝟑 

• Radius = z 

• Thickness = a 

• Find the Volume 

http://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwjV-anr_szKAhXDbSYKHb1xChUQjRwIBw&url=http://www.clipartlord.com/category/food-clip-art/pizza-clip-art/page/2/&psig=AFQjCNF7Yr_NtsK0ha17iqnpBpF1hDqhew&ust=1454087130661066
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The figure shows a can of three tennis 
balls. The can is just large enough so that 
the tennis balls will fit inside with the lid 
on. The diameter of each tennis ball is 
2.5 in.  
 
1. Find the total volume of the can. 

____________________ 
2. Find the volume of empty space inside 

the can. ____________________ 
 

1. 36.8 in3 

2. 12.3 in3 

Each ball = 
𝟒

𝟑
𝝅 ∙ 𝟏. 𝟐𝟓𝟑  

Each ball ≈ 𝟖. 𝟏𝟖 𝒊𝒏𝟑 

𝐂𝐚𝐧 = 𝝅 ∙ 𝟏. 𝟐𝟓𝟑 ∙ 𝟕. 𝟓 

𝐂𝐚𝐧 ≈ 𝟑𝟔. 𝟖 𝒊𝒏𝟑 

Problem Solving 

 At Pedro’s pizza, an 8-inch pizza (the size 

of the pizza is the diameter) costs $6 and 
a 16-inch pizza costs $15. Which is the 

better deal? 

Here’s what the pizzas look 

like... 

$6    $15 

16 in 

8 in 

 If you double the side lengths of a square, 

does the area double? 

 

 

 

 If you triple the side lengths of a square, 
does the area triple? 

A similar phenomenon… 

Problem Solving 

 At Pedro’s pizza, an 8-inch pizza (the size 

of the pizza is the diameter) costs $6 and 
a 16-inch pizza costs $15. Which is the 

better deal? 

16 in 8 in 

8-inch 

Radius = 4 

𝐴 = 16𝜋 

𝐴 ≈ 50.3 

16-inch 

Radius = 8 

𝐴 = 64𝜋 

𝐴 ≈ 201.1 
50.3

$6
≈ 8.4 𝑖𝑛2 𝑝𝑒𝑟 $ 

201.1

$15
≈ 13.4 𝑖𝑛2 𝑝𝑒𝑟 $ 

Pizza Hut Pizzas (Actual store information) 

Size Diameter Cost 

Personal 6” $4.29 

Medium 12” $8.49 

Large 14” $10.49 

Pizza Hut Pizzas (Actual store information) 

Size Diameter Cost Area (in2) Pizza per $ ¢ per in2 

Personal 6” $4.29 28.27 6.59 in2/$ 15.2 ¢ 

Medium 12” $8.49 113.1 13.32 in2/$ 7.5 ¢ 

Large 14” $10.49 153.94 14.67 in2/$ 6.8 ¢ 

 

The table shows actual data from Pizza Hut. In your trios, 

rank the pizzas from best deal to worst deal. Be prepared 

to back up your claim with specific numbers! 
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CLASSWORK/HOMEWORK: 

 Volume Scavenger Hunt WS 

 The answer to each problem is 
SOMEWHERE ELSE on the sheet 

 You can start at any problem you want – 
the sequence should take you to all 14 
problems and then back to the one you 
started at 

 You must show ALL work. If you need 
more space, attach a separate sheet of 
paper. 

 


